Problem Set #2 Answers

Econ 101 (Prof. Kelly)

Fall 2004

1. C:  Successful commercials will cause demand for Old Space to shift out or rightward, which will lead to a higher equilibrium price for Old Space.  As a result, quantity supplied increases.

2. C:  Since the goods are substitutes, a decrease in the price of Old Space will cause demand for Left Guard to shift in or leftward, leading to a lower equilibrium price in the market for Left Guard.

3. B:  Answers A and D would lead to an increase (or rightward shift) in the supply of Left Guard, and C would affect market demand, not market supply.  Changes in the quantity supplied of a product are induced only by changes in the price of that product—thus B is the right answer.

4. D:  These simultaneous occurrences would cause a leftward shift in market demand and a rightward shift in market supply—both things that would lead to a lower equilibrium price in the market for Old Space.  However, while the negative shift in demand would cause the equilibrium quantity exchanged to fall, the positive shift in supply would cause the equilibrium quantity exchanged to rise.  Thus the overall effect on the quantity exchanged is ambiguous—it will depend on which shift is larger in magnitude.
5. (Part a):  We can find market supply by using two points ((q,p) combinations) to find the equation of the supply line in terms of P and then solving for Q.  If we use the points (0,0) and (6,1), we get:
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Using the same technique, we get 
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.  If we add Laura and George’s demand values at each price (P=0 through P=4) together, we get the market demand schedule:
	Price ($)
	Market Demand

	0
	18

	1
	15

	2
	12

	3
	9

	4
	6


Thus market demand is given by 
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(for P=0 through P=4).  We know that at the equilibrium, 
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(Part b):  We know that at the new equilibrium,
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So the equilibrium price and quantity have not changed.

Graph 
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 by solving for P first—this will make it easier because the equations will be back in y-intercept form.  Notice that the new market supply curve is much steeper than the old one (slope of 1 for the new vs. slope of 1/6 for the old); thus if demand were to shift out the change in price would be larger under the new supply curve than under the old supply curve, whereas the change in quantity would be larger under the old supply curve than under the new one.

      6.   (Part a):  We know that at the equilibrium,
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(Part b,i):  We set
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Notice that for any price of 70 or above the quantity demanded will be 0 (70 is the minimum price that will accomplish this objective).

(Part b,ii):  Look at what quantity supplied and demanded are under a price of 55:
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So the excess quantity supplied in this case is 15 shirts.  To find a general expression for excess quantity supplied, we take
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where P>50 (Note that if P=50, excess supply is 0, and if P<50 then we get negative excess supply, which is excess demand).
(Part c):  We can see that the new demand curve has the same slope as the old one, but a larger y (and x) intercept.  Thus demand has shifted out, which can happen for a variety of reasons (for example, the price of a complement good, such as denim jeans, went down).  Since demand has shifted positively, we expect that both the equilibrium quantity and price will be higher than they were in part a:
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So we were right :)

7.
We may reasonably assume that Bill’s income will increase after he graduates from college.  We also assume that Ramen is an inferior good to Bill and steaks are a normal good in his mind, but currently he consumes some of both.  As income increases, consumption of inferior goods falls and consumption of normal goods rises, so after college Bill will probably not have to eat as much Ramen and will get to enjoy more steaks.
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